5.5 Homework — Page 157 #1-13, 15

1. Use a graphing calculator. Enter the equationsy = x + 2,
y=—-2x+2andy = %x + 2inthe list on the function

screen. Then graph them in an appropriate viewing window that
shows the important features of each graph. Write a description

of what you see. How are these graphs the same? How are they

different?

2. Use a graphing calculator. Enter the equations y = 2x, y = 2x + 1,
andy = 2x — 3in the [Y=]list on the function screen. Then graph
them in an appropriate viewing window. Write a description of what
you see. How are these graphs the same? How are they different?

Plotl Plot2
E\Y1BX+2
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Plot3
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For Exercises 3-6, write the equation in slope-intercept form. Then
identify the slope and y-intercept.

3. 2x—3y=12 4, 2x +4y =4
5. 6-2y=0 6. 2x—y=8
3) -3y +) ax’r*j=4
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For Exercises 7-8, make a table of values and graph the equation.

7. y—3x=-4 8 x+2y=1
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For Exercises 9-10, write the equation in slope-intercept form,
identify the slope and y-intercept, and graph the equation.
9. 8x:=y=2 10. 2y +4=0 4—
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For Exercises 11-12, identify the intercepts and graph the equation.
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13. The equation C = 40 + 5n can be used to represent the relationship A

between the yearly cost C in dollars for a student who has a o S
membership to the Museum of Nature and Science in Dallas, Texas ~—~ @
and the number of times # the student attends the IMAX® Theater ~— To
at the museum. Ao f
. ) o ob 7
a. Graph the equation.
b. Use your graph to determine the cost of a student attending the e
theater four times. o —./
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15. Explain the statement “Not all linear equations represent linear — a;HTCf\o“L
functions.”
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